ERRE

=
o e 3
w| S| | w5 ®
= 2 |& R W K|
8| o R X e ® e up
22| |H _ 5 2 sl %
F S alEl g = i 8 w v
IR H|I® 5 5B ¥ K A I
B o® @ & © K I
= mﬂ@nzumm .m S 4
¢ ¥ 4 R (I [
i % 2R e = 2| ||%| B
wmﬁvﬂ..ﬂ iﬂﬁﬁ%(E S
K |\ |5 i HW|H| W m| . |@],
&%tﬂ_ﬂl._/l .m_____“_ _'ﬂ _“_“_”_”___.JE”_H.
Y (e s | e o
g@eE g IR £k |g
m [ HEL L g 4o |0 4n| ¥ BE
_ ;

#ER :1/2,500

MR XEX

=

T RXEERRXE - LR KER

1/ 2



TEFOAODKESS—E

ERBE BARRDIEE |AEfHORE
&REAH HEREES 132306A661101108
NOREAFREDHH EREE ELES A 4B
(A) BB KB HH100kN/ MEBZDXEBDFEID DO FKIEKN/M) (E) HEEH3IMEB A IR OHIBED HDRERARIEKN/M) g = s -2
(B) (AL HBEWI- AT HEE D+ EEDES(m) (F) (DA LR 5 =t A S BB E O+ B Z D) =rEAE il T AT
(C) BEN=KBHIH100kN/ M LL T DR BDFEEND DR AKIEKN/ M) (G) HEEAIMLUT ORIGDHERED DR AKEKN/ ) LEREE
D) CLWLZEEMIMERTIEENDLTEENTE(M) H) QA LZEEMIERTIEENDETHENDETE(M)
HETIHIYVTADETAED HDOKRES SER®MADTRAEDHDOKRES
XNES 1
(A) (B) (©) (D) (E) F) (G) (H) (A) ) (©) (D) (E) (F) (G) (H)
(1) 1127 10 99.3 10 - - 10.4 2.1 109.6 10 95.2 1.0 - - 104 21
2/ 2

ERE




